[image: image1.jpg]pA
A S BRIERI /1 2 (§3.4~ §4.5) GESIHIBRE - KRN B

L e 0!
2
5 |. Determine 4™ by usins(Him. Find the adjoint matrix.)
0
22
P— Ca= 10 Cy= 1279
Car= 1 =¥ g
cy=10-228  (y=2 S

B B Sl A
0 -4 -2 I e
=l 2 -2 A
2.Letu=(2,0,-1),v= (-2, 1,-3) be vectors of "
(@) (10%) Determine the cosine of the angle between u and v
(b) (10%) Determine a vector that is arthogonal to both wand v.
wer “4+3 ol
@) WsB = = =
el Jsw Y7
wivn and Wiy

©) Suppe w= (aborer?,
o § 2a-C=o

iamb»zc =0 > i o Pl &2) | reo

reR

3.(10%) Prove that the set of all odd integers J¥ -} is not a vector space.
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4.(10%) Determine whether or not the set I =([ “ . J | abe R} isasubspace of My,
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7.(10%) Show that the set of vectors {(1, 2, 0), (0, 1,2), (2, 0, 1)} spans R’.
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8.(10%) Let v, and v, be vectors in a vector space ¥, and ¢ be a nonzero scalar. Show that if {v1, v2} spans
¥, then {cvi, v2} also spans V.
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